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100kN/m’* % 8% 5 K i3 100kN/m’Z% 8 % 5 B ish
HhoXREFE| 8% | HhoXEFE| 8% | HhoXEFE| 8% | hoXEs| 285% hoXzx| £R7E (HoX2Ex| 8% | Hhoxzs| 7% [ HhoXzx| 8%
D 3BHEK| DFS |D53BRK| OES [D3BHRK| DS |D5BKRK|[ OFS D 3BHREK| DFE |D3BRK| OES [D3BHRK| OES | D5BHKRK NES
DHD DHD DHD DHD E)) LD DHD DHD
(kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m)
1 ~ 2 - - 100.0 1.0 - - 11.8 24
3 ~ 4 - = 844 10 = = 103 21
4 ~5 - - - - - - - -
6 ~ 7 1244 1.0 100.0 1.0 - - 125 25
7 ~ 8 134.8 1.0 100.0 1.0 - - 12.8 2.6
8 ~ 9 136.6 1.0 100.0 1.0 - - 12.9 2.6
9 ~ 10 140.7 1.0 100.0 1.0 - - 13.3 2.7
10 ~ 11 140.7 1.0 100.0 1.0 - - 13.3 2.7
11 ~ 12 127.3 1.0 100.0 1.0 - - 11.6 2.3
12 ~ 13 127.3 1.0 100.0 1.0 - - 13.4 2.7
13 ~ 14 1233 10 100.0 10 = = 145 2.9
14 ~ 15 1188 10 100.0 10 = = 145 2.9
15 ~ 16 1188 10 100.0 10 = = 112 22
16 ~ 17 1383 10 100.0 10 = = 147 30

i

|



